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Unit 5b Day 12 and 13: Operations with Polynomials
Focus Question: Are polynomials a closed set?
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1. What are polynomials? Give 3 examples (and classity them). 4 i |\
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2. 1f you were asked to perform the following operation with polynomials, what would you look for?”
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(5x* +3x° —4)+ (7x7 + 8x)
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3. Simplify the above expression and determine if the answer is still a polynomial.

5. Simplify the expression (6x” —4x +8) = (/x - s
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6. Are polynomials closed under subtraction? If not, give a counter example. \\ QE\
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B. Multiplying Polynomials DX
1. So far when you have multiplied polynomials, one ot the factors has always been a monomial. For
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example, simplify 402x° -7x). H (9/ } + Ll(( 7%\ - % X~ -—-L_; "x\
2. What property did you use to simplity?” D\ﬁ%\\{ \ i\DL(J\ e

3. Multiply: 17-32. Explain your strategy.
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4. Use the area model strategy at right to do 17 32
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No matter which way you prefer, the idea is that both £
place values of the 32 get multiplied by both places values 1 |
of the 17. The area model on the right can be much more 5| O°° -3
helpful as you learn to multiply polynomials. &O 1\
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5. (2x5 + 1)(3x2 - 10) < / et
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6. (5x3-2x+ 7)(4x% + 3) S0 . . =% SIS S
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C. Use the Distributive Property to write each expression in expanded form.
1. (3x* + 5)(x - 6)




4, (7% - 4)(2x3+ x - 5)
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6. Are polynomials closed under multiplication? If not, give a counter-example.
D. Dividing polynomials
This is a skill that you learn much more about in algebra 2. But problem S in part C might make you
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osed under division because the final answer can be written as 5

think that polynomials are cl

(a very simple division of polynomials problem) oras x= = 3x — 4 which is still a polynomial. However,
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when we start to work with quadrati and
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Thus, polynomials are NOT closed under division. (It creates what
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‘more function families for you to learn in al gebra 2!)

sometimes you cannot

are called rational functions..

Continued on the back.



k. Closed Sets Comparison

l. FFor each set of numbers list the operations under which it is closed.
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| Set . ;

| Naturals | Integers | Rationals Polynomials
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| Operations | |
| Under which
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I'he set is closed |
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olynomials function the most ljke which set of numbers? Explain why you believe this is SO.

3. What do you notice is unique about rational numbers?

4. Go back and look at the diagram of the number system on Day 11. How does vour answer to number 3

help you understand the diagram.




